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Show your work! No calculators! Please draw a around your answers!

Please do not write on your desk!

1. (8 pts.) Find the following derivatives. DO NOT SIMPLIFY YOUR ANSWERS.
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2. (6 pts.) Find the tangent line to the graph of 2%y + xy* = 2z at the point (1, 1).
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3. (6 pts.) Two sides of a triangle are 4 m and 5 m in length and the angle between them
is increasing at a rate of 0,06 rad/s. Find the rate at which the area of the triangle is

increasing when the angle between the sides of fixed length is 7 /3 .
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